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An index number is a statistical device for measuring changes in the magnitude of a 8roup ,
related variables. 4

e Index numbers measure the changes with respect to time, geographical location or sop,
g . e
other characteristics. The comparison may be between categories such as persons, schoolg

hospitals etc.

e It also measures the changes in the value of variables like prices of specified list of
commodities, volume of production in different sectors of an industry, Production

various agricultural crops, cost of living etc.
Index numbers are known as ‘Barometer of Economic Activity’ as they are used to feel the pys,
of the economy.

Definitions of Index Numbers

In the words of Edgeworth, “index number shows by its variation the changes in a magn@
which is not susceptible either of accurate measurement in itself or of direct valuation in
practice”

In the words of Tuttie, “An index number is a single ratio (usually in percentage) which measures
the combined (i.e., averaged) change of several variables between two different times, places
or situations”. ‘
/ words of Croxton and Cowden, “Index numbers are devices for measuring differences
in the magnitude of a group of related variables”.
In € words of Spiegal, “An index number is a statistical measure designed to show changes

in variable or a group of related variables with respect to time, geographical location or other
charageristic".
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res/ Characterigiqs of Index Numbers

es of Index \umbers are:

- / ex numbers are specialised averages: Averages like mean, median or mode canbe used 0
compare two or more series. However, if the units in which two or more series are eXPf‘ESS'ed
are different or if the series are composed of different types of items, then averages Cﬂ"“'m
be used to compare them. In such cases, index numbers hel p us in comparing change I

umbers are expressed in percentages: The changes in magnitude of a group artt
pressed in terms of percentages which are independent of the units of measurt‘ﬂ"""“'
This facilitates the comparisons of two or more index numbers in different situation™
Howeuver, percentage sign (%) is never used.
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For examﬁle.g‘;‘fi;‘;tf Z;”;tgu 3;;;’;0::9 measured in Quantitatiye termsca::mﬂ)e Sy,

e chan e variations . irectly. We
,elatlve In certain othe, factors can only study

Connected to jt.

NUMBERS

ose of Index Numbers: There is no ‘All Purpose Index'. Every index has a limited and

specific use or purpose.

« So, first step in the construction of index numbers is to carefully define and decide the
purpose of its construction.

« If we fail to decide the purpose of the index, then it would lead to confusion, wastage

of time and money.

& s d we have collected data of
* For example, if we want to measure the changes in prices and we

ity consumption, then it is of no use. . » d
- d associated with an index number is a per

{on of Base Year: The base perio e tities in a given period.
- 4 ! ;i es in prices or quantities
e iatibrised st U F compmnfeiihirslgbase :riod, the value of the index number

* No matter what period of time is U
for this period is always taken as 109.
* The determination of base period pn.ma.
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fuui Base or Chain Base: The selection ot fixed base method’ or chain b“‘( ! p Aftcr S(—ZIGCtlng the source of prirp quotati 125
. ASC me 1 i " 7 .
of index number. Methgy, supply unbiased price quotations, a4 41,4 , J:s' PETSons should pe 7
S When rec: g aPPUinted wh
“quired e

depends on the ~ sructi
= purpose of construction
5 In fixed base method, the P‘\ﬁ\\{ of c\smparison is kept fixed for all i Meth(’ds of Price Quotations: There o
vears. Currep (i) Money prices: In this prices a  tWo methods, in

! ! Te quoted
5 In chain base method, the changes in prices for any given year are — @ % 40 per kg.

with the prices in the preceding year, not with fixed year. Pareq (ii) Quantity prices: Quantity prices
However, the chain bas ives i o
: in hase method gives a better picture as compared to fj grams of sugar for on
< o € rupee.

method. fixed by, .

which price can be quoted:

e uni
p arit of commodity.
Y- For example, sugar i

quoted per ; rit of mo For exam 5
PeT unit of mey. Fgr exa pl
or e £,

. Adecision must alsobe made as to whether the uholesgly oy
‘The choice would depend upon the purpose of re e m—
€X.

, If the prices of certain commodities are controlled by e o
7y the government, then these

Expiore More: What is a Base Period?

A base period i . . ;

o 1_1wsummmmwh an index number is calculated. Presently, N

! i5 taleons s e buse yeur i il A administered prices should be taken (not the black market pr: i

i B e S . . ; prices, which mayt

| The base year may be changed to refiect any changes over time in the composition of items highe? 3t B
%ction of the Average: Di fferent types of averages such as amthmetic mean, mode

eometric mean, etc., can be used in preparing index numbers.

| making up the index. i base period .
’ period is taken as 2011-1 : .
g 250, then # suggests that 2 and index number in 2015-16 is
| e Pricesincreased by 150° dian,
| g by 150% on an average between 2011-12 and 2015-16; or me & ] ] . .
|+ Sarfle basket of goods in 2015-16 costs 1.5 times as much as in 2011-12. o From the prac.hcal point of view, median and mode are not suitable because of their
/ J erratic limitations.
7 3 Selection of number of items or commodities: The number of items to be included in an » Basically, a choice has to be made between arithmefic mean and geometric mean:
o Arithmetic mean is the most simple of all averages. But it is affected bv the exireme

index number should be determined by t i
uld be determined by the purpose for which the index is constructed.
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Everv item cannot be included in &
) : mnot be included in the constructi i . . .
mav be heloful in the select - = ction of index number. The following points items.
) ipful in the selection Of comm ities: ; : . - i+ atfaches Mo
- = . 2 ~ ge as it attaches more
(i) The commodities selected should be rep —— 5 Theoretically speaking, Geometric mean is the best average & = = N .
rodities selected should be representative of the tastes habi : 2 i rtance tola:zeritenr\:o.‘.mnot i
people for whom the index is meant ,habits and customs of the importance to smaller units and less import g
B e ieant. ¢ 1 bsen'athnS-
(ii) The total number of items should be . affected by extreme values in the 0 o
4 al number of items should be neither too small nor too large. y Thelorm peight’ reRTS 10 ihe relative opoTHaNCe of different
5 If the number of items is too small, then the index number will notb v 7. Selection of a})propr'\ate welghtsz w 3 i
- not be representativt items. 3 fit annotbe scientifically Jetermingd
" - . ; ot commodities canRCEEE =7
o Ifitis too large, the index will be . . o The weights tobe assigned to difterentt ) by conSWneT
- e more representative, but it will involve greater Jity varies Fropt consumer cor
cost and time. ' as importance of a coprmodity Vares e weighs:
/ o afehts or value WETE
ved or oraded commoditi . tity weishts © 2 ) rtance
dardized or graded commodities should be selected to arrive at meanin ful and ¢ The weights can beseither ol . '\Lwcou‘gl‘lx\‘-iﬂﬁm arachy€ LL“F‘) :
comparisons. e at meanifp y ] . o 10 sriatv\\'he‘“'m‘ wd or cofsumed
/ /o Quantity wet ts are appProF” th it qumtitic‘s asef, purchasest €87 L mportance
i B / I eir qud / [ \ched Impore:
X f £?Ch§: of sources of data: The data is scattered over a large area, so there are chances [ accm'ding/m the amoutt o pen vATIOUS ommodities are ‘-Vt‘“h‘ B
or its i misleading. There » . g arca, : e « y sate W en v ™
ac e, ad g- Therefore, it is necessary that the data used should be reliable: o Value weights are approP ipeurred o0 them: /
, adequate, comparable and representative accordﬂ}! to the expendlt® i then
2, / L welehts) ; rieties, the
r 5 4 —— . . i Assigning WE'E e several VaneEER EE
i‘;gﬁlotat]orl\s_ Prices of many commodities vary from place to slace. SO, it is pot ¢ There arq/two n\eth\‘db ofassty \l,\tt‘d!“‘"s mmur\dc.z \
practically possible to collect price quotations from all places | == I [ ioht 1(‘&1\\“\“‘“‘"“5 = : rtance
. ALED _ Implicit weights: R  yance OF IMPO
o The places which are well known for tradi , ; " ’ PN £ jmplictt outward avidenc
ing of that p .- can e SQIC yme €
selected for obtaining price quotation. F 1at particular commodity, ! w(\\ght:. are 8¢ it we ahts, 8¢
> quotation. Price quotati bl o of eXpt
. ations should be taken from the 0 s Ipease e
/ 2. Explicit weights:! - he inde is giver

sources.
of various items i
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5 Aﬁ:“/':ghts S0 e {;aﬂy revised in Otgfx,to reflect the curreng bchﬂviol : Quantit'y Index Numberg. The e e
/ ﬂuduaﬁ()ns N price. - ot q”ﬂntitws and enable us to CoMmpar : o Volupye indey p,, b B
y " » : ) m
* When Allitetns are equally important, an urwelghted index uphor g conStr“Cted g level of ph o physic Juantip, aefr;ozl;: Su’l;avemge change i
3 o v . ev i 0
S.Ey‘ of an appropriate forfiula: Various fom“‘a,‘*?'““‘“ ods have been devigeq, g ber PRysical outputin gy econg, produced, consumeg
Statisticians for co cting the index pum Tike Laspeyre’s methog Paasch y num MY can pe easily Studied b thi
method, Bowley’ ethod, Fisher’s meth . - L N o They C;n be;onstructed by using}, Simp) 7 type of index
* However o single formula can be to be appropriate for all typesof indey ““mbers Indc?: umber can be easily deriveq fror: pen‘as wellag Weighted methog S0, Quanti
& s < C i
* Thethoice of formula woul pend not only on the P“‘“Ptgg()f the "@._Qzﬁ.but-ﬂm\ 3 o . . # ndex Numberg by interchanging pt'};
the data available. - 9 o The indices O_f Agriculturg] Production, 1y
\\\ are all Quantty Index Numbers, "4l Prodyeion, Exports, Imports, et
§ a4 , €1C.
'——K“(PES OF INDEX NUMBERS S 3. Value Index Numbers: Valye index numpeys
are various kinds of index numbers. These can be broadly classified into three categories; total value of the base period, - compare the tota1 value of some period with the
The study of changes in the ¢ tal .
TYPES OF INDEX NUMBERS ° Otal value (prig . .
— & rf@ sales or profits or inventories, an :ex H;]:;I\:t)’) of Production such as indices
7 v } ) € by value index numbers.
Quantity index Numbers Value Index N
(Measure average change in- (Compare total vall:::fesr:me WHODS OF CONSTRUCTNG PRICE INDEX NUMBERS
jes and to compare period with total va i thods of constructj icei
Amdwrgeshm helps his : Goiei by lue of The various me . constructing price index numbers can be grouped under two heads:
goods produced, consumed or sold) : 1. Unweighted or Simple Index Numbers;
A . Tm ¢ ': C \\ L 2. Weighted Index Numbers.
Y ,) | x Both of these methods of constructing index numbers are further classified as:
1. Price Index Numbers: The phice index rén'zbers measure the gzﬁeral changes in prices between (i) Simple Aggregative Method;

the current year and the base year.
* General Price Index is used to measure the value of money.
 Of all the index numbers, the price index numbers are the most important and are

- : METHODS OF CONSTRUCTING PRICE INDEX NUMBERS
commonly employed in various economic and business contexts.

(i) Simple Average of Price Relatives Method.
The different methods of constructing the index numbers can be shown by following chart:

v
e When percentage changes in prices are different for different commodities, then price v _— Weighted
index helps in representing these changes by a single numerical measure. I Unﬁ:&ﬁtm;ﬁz 5 i i
* A price index may be a ‘Wholesale Price Index’ or a ‘Retail Price Index’, depending on 'f " rgatve  Weighed Average s
. . iqhted -
the type of prices used. , e Simple Aggregative  Simple Average of Price Welghlme b Relatives Method
(i) Wholesale Price Indemm general price level for a group of items Method Feiglives
_“ﬂke = uw@:ﬁ:&r India; it is the most popular price index used in t,hgng‘““?f 12.6 INDEX NUMBERS peicht as noweight isexpressly
“industry and policy market. It an indicator of the rate of inflation. (It 1 *> UNWEIGHTED item is supposed to have the same weig lowing techniques:
‘ ~discussed in detail later in the chapter). i Inthe unweighted index numbers, each lt;:;; nbe constructed by the following
(ii) Retail Price Index Numbers: It r, eflects the general changes in the retail prices of variois "signed to any item. Such index m:im
items including food, housing, clothing and so on. The “Consumer Price Index” i82 / (i) Simple Aggregative Method; Method.

special type of retail price index, which is a primary measure of the cost of “Vi“g)
in a country. (Consumer Price Index Numbers are discussed later in the chapter
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- , '

P

S c Pric ives

(ii) imple Average of Price Relatt e
; one.

Letus discuss each technique 0né by




-~

TN mbes_
,1 28 Statisticg for ¢ !ﬂd’x Nu z
- 1asg y R e i
X| je 2. The following are tWo set
'e Aggregative Method E,,m S 0f rot,:

is is the simplest method of constructing index numbers. In this method, aggregate
all the selected commuodities in the current vear are expressed as a percentage of the 5
Prices in the base vear.
The steps in the construction of such an index are:

Add up the current _“;ar prices of various commodities and denote by Tp,.

' Add up the base vear prices of various commodities Zp,.

Use the following formula:
Zp,
o,

prices of dﬂ
BBregate

Pm= x 100

Where,
Py

Index number of the current year.
Ip; = Total of the current year’s price of all commodities.
Ip, = Total of the base vear’s price of all commodities.

Examples 1. 2 and 3 will illustrate the application of the above steps.

Example 1. Construct index numbers for 2016-17 taking 2011-12 as the base year from the
following data by Simple Aggregate Method:

L ortain to retail prices during 2001, dl Priceg q,
. i d 2007

~a__

Commodity Price in 2011-12 Price in 2016-17
Wheat Z20/kg Z 25/kg 2p, =162 Ip, =199
Rice ¥ 30/kg X 40/kg Price Index for year 2007 with year 2001 as base
Pulses T 60/kg T 80/kg %p 155
Sugar T 30/kg % 40/kg Por =——x 100 =—— x100=122.83
2po 162
Solution:
Construction of Price Index The price index number (122.83) reveals that there is a net increase of 22.83 % in prices in the year 2007,
Year 2011-12 as the base year compared to the prices in the year 2001.
Commodity Price in 2011-12 (3) Price in 2016-17 (3) Ans. Price Index Number = 122.83
(o7 v (p1)
Wheat 20 25
Rice e . T
Pulses I 80 [ jﬁr
Sugar 1 30 ' ' a0
Ipp=140 | ‘Xp, =185
Price Index for year 2016-17 with year 2011-12 ag bage
Pos =-}z:%;x 100 =% %x100=132,14

The price index number (132.14) reveals that there s
2016-17, compared to the prices in the year 2011-12.
Ans. Price Index Number = 132.14

net increase of 32.14% in prices In the Yé&'




10 | 40 X100 = 100 ® <10 o o (—PL”OOJr ie. divig -
20 | | 20 ¥ 0 = 66.66 commodity in the current yearby the pricc 0 e the price of each
| | Price In the base Yyear
‘ 50 50 ’ ]
2011 | 50 ‘ —x 100 = 125 —x 100 = v i t i . :
: ‘ 40 60 83.33 (1) Obtain e rehqves, = (%-" 100) . .
\Fo
‘ 60 60 . Divide the sum total of the prj :
2012 60 ——x100 = 150 —— %100 = 1 (i) » Price relatives of "
_ 40 60 X 00.00 commodities. all commodities by the number of
| P ﬁ
2013 70 ‘ -Z%xwo: 175 %x100= 116.67 2[—“100] .
| ” (iv) Apply the formula: POl = L
2014 80 —x 100 = 200 ﬂx100= 133.33
40 60 Examples 4 and 5 will illustrate the application of the above steps.
90 90 .
2015 90 = 100 = 225 = 100 = 150.00 Example 4. Construct an index for 2016-17 taking 2011-12 as the base by the simple average of
price relatives method:
2e % % x 100 = 237.5 % %100 = 158.33 Commodities R e c f o
o Prices (2011-12) 10 20 30 40
itations of Simple Aggregative Method Prices (2016-17) 13 L — =
1. Itis influenced by the magnitude of the prices. It means, higher the price of a commodity, Solution: Number
greater is its influence on the index number. Culoulaton ofPres St @ | PricoRelatives
. . .. . RED = S 5 Prices in 2016-17
* So, high priced commodities receive greater weightage than low priced commodities. i  Commodities Pncesm(20)1 E12(05 (0y) % Pr 100
o s - . . e P ; —X
* For example,if rice prices are relatively higher than those of wheat, then rice prices tend b 2 ke ! P
to influence this index relatively more than the prices of wheat. - L/J’_l—i?;:;o——_ l
-Equal weights are assigned to every item in construction of this index. The relative A 10 /1’3',/_(,‘_0,,/’ !
importance of various commodities is not taken into account. e S ey , 7 100=85 }
. . ) . , , . 1 ‘ |
* For e'xa.mp/e,ltems like pencil and milk are assigned equal importance in the construction B 20 //*/’L/ |
of this index. - | — 60 j00=200
\k———_«/ | =
* This limitation renders the index of no practical utility C 30 . H/
. ; - ' | — 10 400=175
. P g g . \ e T | =x100=
3. Prices of eSS commodities may be quoted in different units like rupees per qumtﬂ]/ SRS I 70 I
rupees per litre or rupees per metre and so on, D 40 /
. ¢ o — | P‘ = 590
e Thus, the index is influ _y o ~——_ R ‘ ""100) ;
and accordingly some of the commodities may get more j because they are /
quoted in a particular unit. ‘¢ Importance becau i———/
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)3 (P—‘ x 100]
0 590

P01 = =——= 147
N 4 2y

The price index number of 147.50 shows the increase of 47.5% in prices in the year 2016-17 a5 Compar
to year 2011-12. |
Ans. Price Index Number = 147.50

Example 5. From the following data, construct an index for 2016 taking 2011 as bage by th

simple average of relatives method.

~Lommodarie: 5 o , \' “A::‘ i_;_ f:' & B:: “: o Jon ‘C ey ;:—D‘,: : i ‘\ Jmise 3] E
S L
Prices (2011) 50 40 80 100 20
Prices (2016) | 70 60 100 120 20
Solution:
Price Index Number by Simple Average of Relatives Method
Pricesin2011(39) | Pricesin2016(7) |  Price Relatives
g P o P s L P e
, = L 000
~Bor o
A | 50 70 70 100 = 140
| 50
!
B | 40 60 £0 100 = 150
40
C 80 100 190 100 = 125
80
D 100 120 120 400 = 120
100 o
E 20 20 20 400 = 100
20
N=5 p
b3 (_1 % 100] = 635
5 (&_x 100)
0 635
01 N 5

The price index number of 127 shows the increase of 27% in priceg in the year 2016 as compared to year 2011.
Ans. Price Index Number = 127.



L#peyres Methog

Mr. Laspeyres in 1871 gave an Weighted q

e S ggregated index, in which weights gre ,,
| quantities of the commodities in the pgse year. “Presentey

~..‘S,rff(8'ics for ¢

by th,
® It helps in answering the question that, if the expenditure in the base year op
commodities was ¥ 100, then, how much should be the expenditure in the Curre Sk to
on /the same basket of commodities. A

| '/Fﬁrmula:
v al

P01 = ZP1Q0 x 100 ’a( -
ZPogo

Y
® Steps: The various steps involved are:

1. Multiply the current year prices (p;) by base year quantity weights (90) ang -

all such products to get Zp,q,.
2. Similarly, multiply the base year
obtain the total to get Zpyqp.

3. Divide Zp1qy by Zp,q, and mul
number of the current year.

aasche’s Method

prices (py) by base year quantity Weights (qp)

tiply the quotient by 100. This will be the indey

The German statistician Paasche in 1

874 constructed an index number,
determined by

quantities in the given year.
* It helps in answering the question that, if the
consumed in the base

in which weights are

current period basket of commodities was
period and if we were spending ¥ 100 on it, how much should be

the expenditure in current period on the same basket of commodities.
* I, . . @, NH% i >
/fmula. P 19(({5 ﬁ&
2p4q; I )y
Pyy =—11%& 100 by
o 2pyq; A ﬂ

Z®of,
1. Muiltiply the current year prices (p
such products to get Zpi1q;-
2. Similarly, multiply the base
obtain the total to get Zpyq;-

3. Divide £p;q; by Zp,q, and multi
number of § current year.

® Steps: The various steps involved are:
1) by current year quantities (q,) and totalall
year prices (p,) by current year quantities (q0) and
Ply the quotient by 100. This will be the index

\
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Fisher’s Metho ‘ \ \\
\ \
—Prof. Irving Fisher'has given a n‘l{mber of formulae for constructing index numbers and of t:::‘
\be calls one as the “ideal” index. The Fisher’s Ideal Index is given by the following formu®

iy
\ J R

~88s

d O — A - ) \/////
’ Wﬂum” s - —
j g \ v ;]1 \\ \ /0\) =
| “‘nu q1 ‘f AN o
1 the akpve formula, it is cjey, that g,
! Fro‘;aasche indices. "
d

"

why Fish er's method is an idea| WETD
1. The formula .is b:ased on geometric .
for constructing index Numbers; N, which P

2. Itconsiders both base yeay and curreny
associated with the Laspeyresss .

. asc
3. It satisfies time reversg| test ang factor reve

Wi P 5
€S nderas Eights. So, tavoids the piag
rsal test,

gample 6. From the following da, calculate price index p

y: () Laspeyre’s Method, () Paasche's Metpoq, Fisher' Met}suf)(; D b

OO0 |o|>»

Solution: Constryct[on of Pricet Index F‘““‘m
] Base Year (2011) ‘Current Year
Price (%) | Quantity
Po Goinil G P e .
A 20 8 40 6 | 160 | = 20
: 20 L % 2 = 1 750 | 750
e 50 15 600 600 | \ - ;
C 40 15 T \
0 o5 | 400 | ‘ ‘ |
D | 20 20 20 m
. ‘l -1P°660 | =1470 | =2,070 | =1,
T DI B 1. |
0 Laspeyre's Methog |
70 - 124.69 ‘.
P01 =%X1 0=—2-'0—X 100 = 12 \
Ipag 1,660 \‘
) PaasChe.s Method |

90 = 12177
P01 =\zp‘q1 x 100 =ll_x 100
zpoq.| 1,470
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(iii) Fishers Method 690 1,150

X x 1
0 =i 4250 1247

~4/ 580 960 V14250 5 4 1193
B = Ip,qo 2p,q, 100 i 10) Laspeyre’s = 118.965; (ii) Paasche * 100 11937
2pt)% zPoqx An B's = 1

19.79, i1 =
mple 8- Calculate the price index Numbe, |, '("') Fhers. 1937 -
2070 1790 100 = [T51835 x 100 = 1.2322 x 100 = 123,99 e | Fisher's ideal method. V-0 Laspey e Method u :
1660 1 470 (//—_— Base Year (297
Ans. (i) Laspeyre's = 124.69; (ii) Paasche's = 121.77; (iii) Fisher's = 123.22. ' gommodity P(”ge r(r\w&'” T
e —1 (1" Expengityrgy | Prics T =
. ; 3 ; o b 1 Vall
Example 7. For the data given in the following table, compute index numbers by: (i) Laspeyre's |y W | 2\ \200\_\\ (A | (o EXD::d‘ o B
method, (ii) Paasche’s method, (iii) Fisher’s ideal method: =75 | 8 72 B B
e 0 T -
Base year Currentyear 0 —\15 - 15 -
: 5 | % -
Commodity Price (9 Quantity /D—f———\ s | 10 80 ‘
- 9(1;7 ’ Solution: f both the years, total va l
va
A 1 15 J Im:gase & s %‘Ve“ So, we will have to first calculate the quanity by
B 8 f applying the following formula: Quantity - Value
C 6 J 20 I Price
= % | 10 J Construction of Price Index Numbers
Base Year Current Year [\
S -
Solu Construction of Price Index Numbers (2011 < . . (2016.17) R,_h
Commodity| Price (%) | Quantity | Price®) | Quantity | pg, | pg, | PG | Py
Bzse year Current year [ : Po 9o Py a9 1 " | ]
Commodity, Price (3 | Quantty | Price (3) | Quantity , Podo ' ’ GaE A 2 100 3 10 20 20 30 30
' q; T 80 90 100
Po qo 4 | B 8 9 10 10 |
A 10 30 50 30 | 500 [ 360 600 = - . 5 80 72 7 %
B 8 15 25 | 120 | 200 | 150 = 7 7 10 49 5 L
= = o~ 3 | 120 | 180 | 120 180 D g Inh Ik I
| - ‘ : = =408 = =
D 4 10 6 20 | 40 | 80 | 60 | 120 | | = 381
| Zpyqq Zpo4, Zp,9, —z1p11%10 ’
| =580 =960 =690 | =1 () Laspeyre’s Method )
2p,qq _535 400 = 140.42 )
. ’ =——x 100 = %
(i) Laspeyre’s Method Pot = x 381
3 €690 _ ;
Py = 2P1% . 400 = x 100 = 118.965 (i) Paasche’s Method
ZquO 70 70
i he’'s Method Por = Lp‘m 100 -_5——-x 100 = 139. {
(i) Paasche’s s 2poay 408
5p,q; _1 100 = 119.79 i |
= =P, 100 = x : () Fisher's Method
7 Zpyqy 535 570, 100 = 14008
IpyqQo 2Pt o 100 =,y 408 ‘
(iii) Fisher's Method 1 Por = [ =220 podr X %l  cicnar's = 140.05: |
Zp, qO XP1Q1 x 100 2: (i) Paasche's =139. J
o1 2podo zp0q1 Ang, (i) Laspeyre’s =140.42;




Statistics foy Clagg X/

Construction of Price Index Numbers

number:

<

| P jar - P9 P190 P19,
A g 0 10 56 300 336 500 560
B - 00 120 200 240 200 240
c s 60 g 60 | 240 240 360 360
) 10 30 12 24 300 240 360 288
E g 40 12 3% 320 288 480 432
Zpodo Zpoay Zp,qp Zp,q,
=1,360 | =1,344 | =1,900 | =1,880
Fisher's Index Number
P :I' 29:G x 9,9, x 100
\ o4 Ipo-
[1e00 1280
= ftemx x 100 = [1.953 x 100 = 1.3974 x 100 = 139.74
| 1380 1344

Ans. Fisher's index Number = 138.74

Value Index Numbers
Val

year. If this ratio is muitiplied by 100, we get the value index number.

Symbolically: V = Z;:; x 100; Where, V is the value index number.

Such index numbers are not weighted as they do not con,
These index numbers are however not very popular, hec
and quantities are not fully revealed by the valyeg.

S

ue index nunper§ are very easy 1o calculate. Value is the product of price and quantity.
A simple value ratic is equal 10 the value of the current year divided by the value of the base

sider both the price and quantity.
ause the situation revealed by price

N

T

e i
- ighted Average of Price F{elauv% Meth 1
e ; . “Noe
., method, the price rlela'tlves for the

n :ces. These price relatives gy, Multiplieg T are a ey

Z dded up and divij by the basi
e a P leld ¥ the re. g ) 8is of th
Yr u ts ar ed by th&, ¥ Spective Weig o e base

ghts. the items. These
step®

e Alculate price relatives for the CurTent e (

12.19

cu
frent year

ated o the

P ;
\L‘mo
Py

J

J and denote ¢ byR;

) M ultiply the price in the base year (py)
itby w;

5 M ultiply the price relatives (R) with vaye wei
total to get IRW;

With wej
eights (qp) to get value weights and denote

ghts (W) of each commodity and obtain its

4, Obtain the sum total of value weights to get IW.

5. Apply the formula: Py, = 2R

W

gxample 10. Calculate the index number by weighted relatives method from the following data
for the year 2016 with 2011 as the base year.

Quantityin2011 (Units) | Pricein2011?)  Prcein2016[)
80 i 5 8
65 1 8 14
42 2 ®
37 R . 2
31 4 &
15 2 .
Solution-
Construction of Weighted "‘dei_' b
z Value Weights Py
Weights Price (3) (P00 P i
]
Q 2011 W R ;
; e T a0 | 160 | 60
80 5 » . 520 175 91.000
Bamrnans: secusmrea i SRR ' 75,600
65 8 | - 504 150 '
42 2o 148 =500
*37 I 4 ‘. = A ! 124 125 . 06 a4
e [ 4 | T e m N
N L - — 4 Y s IRW =2,70800
15 R w=1726 =
l T
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Wei 55X
©i8hted Average of Price Relatives

Po; = ZRW _ 270,600

= 156.77
Iw 1,726

The index number of 156.77 shows the increase of 56.77 % in prices in the year 2016 ag °°mpared
2011, 10 yeq,

Quantity or Volume Index Numbers

ed earlier, quantity index number measures the average change in Quantities ap,
us to compare changes in the physical quantity of goods produced, d

consumeq, ¢,
IAbuted. We can construct the following quantity index numbers analogous to the Price

dex numbers.

[ Price Index Numbers

Quantity Index Numbers
SImpIeAggm Pos =§—::;" 100 / Jo1 =§—;';x 100
Laspeyre’s Method | Py, = ;s;:;)x 100 / Qo1 = :_:;z;’x 100
Paasche’s Method | Poy = 22194 100 / qor =231, 100
2po9y ZqoP4

o 3 s

Fisher's Method | Po; = | =210 ZP11 100 | goy =, [231P0  2QiPy
2pydo  ZPoT 2qoPy  Zqgp;

1. CONSUMER PRICE INDEX (CPI)

Aeaning

onsumer Price Index reflects the average increase in the cost of the commodities consumed
/ a class of people so that they can maintain the same standard of living in the current year
in the base year.

" They are designed to measure effects of change in prices of a basket of goods and services

on purchasing power of a particular section of the society during any given (current) period
with respect to some fixed (base) period.

The consumer price index numbers are also known as:
¢4J Cost of Living Index Numbers;
(#) Retail Price Index Numbers; or
j#) Price of Living Index Numbers.

=

. /
s dfor Coﬂsﬂt:ucgng Consurner Price e
. ﬂt % t the ethe.Ct of rise or faj| in mflex ““mbgr 1229 3
o 0 P eople on their cost o liVing Priceg Ofyay Sarise, by
(135565 different classes of Peop] ' Oug m, Use BeNerg) ind
feo"er' dities are not “oPle cons i e oy s
o e MO CONSUmeg i thed!fferem pe *AbY differeny
rice index number Sam of s |
(s mer P 11 in prices of d; = are COnstructed “Pr by 4 a“dEve-Mh ’
0 ise or fall 11 PTICes of differe,, types o PATate Gifferent qlpgeq. < e
zﬂ?d of of Co"'mOditier Uerent ¢l of people,
ife People g study gy,

The consumption' pattern of fich, Poor 3
consumpﬂ°“ habits of the people of the s:d m
tne pattern of expenditure of 3 peq, living ir:n oSS it gy
jiving in, $3Y: Kerala. The consumer Price ind::t:g et widety f
fall in

prices on different classes o e =
f Consumerg ving in r <

gruction of Consumer Price Index
fhe steps involved in construction of CONSumer
’ Determining the scope and Coverage of the

dass of people, for whom the indey Numbers

Price index are;
Index: .

e% 'I:he first step s to decide the particular
15 Int .
government employees, low income o middle ended, such as ind

. ustrial workers,
hcome class people, ete.

* In addition to the class of people, the Coverage should also be learly earmarked. i
the geographical area - rural or urban, city or town, etc. .

¢ Itis necessary that the selected class should form ahomogenous group of people from
the point of view of income and habits.

2, Family Budget Enquiry: The next step is to conducta family budget enquiry by randomly
selecting a sample of adequate number of representative families from the class of people,
for whom the index is designed.

* The enquiry should be conducted in a normal period of economic stability.
in findi ch an average family of this group
* Family budget enquiry helps in finding out how much an averag|
spends on different items of consumption. | ) o
* Commodities are broadly classified into following 5 major groups: (i) Food, (i) g

Miscellaneous.
(iii) Fuel and Lighting, (iv) House Rent and (v) 1o smaller groupstermed asstb-
divided into als, pulses, milk

b_
* Each of these major groups are e be sub-divided info cer€

r U a
groups. For instance, the group FOOde:: y
and milk products, fruits, vegetables, €1C



——— - ” e
. i S X
® Usually, these sub~classes are divided still further, so that, the commoditjeg i :
in each sub-group are individually mentioned. But, only those commodiﬁelq n
group generally consumes, are included in the index number. W

éé)bminin g Price Quotations: The third and the last step is to collect retail Prices
a very important and difficult task. The reason is that retail prices va .
; shop and even customer to customer.

i ® Jtis
: to place, shop t©
} e There cannot be one formula for collecting the prices, but still, the followiy, .

8 roaq

principles may be observed:
The retail prices should relate to a fixed list of items and for each item, tp,

should be prefixed by suitable specifications.

Retail prices should be those actually charged from consumers.

Discount for cash payment and interest rate for payment should ba taken i
to

S o Place

(i) € Qualiy
/ (i)
(i)
account.

iod of rationing or price control, where illegal prices are charged openl
y,

(iv) Inaperm i
such prices should be taken into account along with the controlled prices,

* Since prices form the most important component of cost of living indices, considerabe
attention has to be paid to the methods of price collection and to the price collection
personnel

e In order to convert the prices into index numbers, the prices or their relatives myg
be weighted. The need for weighting arises because relative importance of various items for
different classes of people is not the same. For this reason, the cost of living index is always

a weighted index.

How the prices can be collected?
Prices are collected usually by special agents or through mailed questionnaire or in some
cases through published price lists.
Special agents are more reliable as they visit the retail outlets and collect the prices from
themn. However, these agents should be properly selected and trained and should be givena
manual of instructions as well as manual of specifications of items to be priced.

How the prices can be verified?
The prices can be verified by methods like ‘check pricing’ or ‘purchase checking'.
* Under ‘check pricing’, price quotations are verified by means of duplicate prices obtained

by different agents.

*_In case of purchase checking’, actual purchases of goods are made.

Difficulties in Construction of Consumer Price Index

1. Prices used in the construction of cost of living index are retail prices, which vary from shop
to shop, place to place and consumer to consumer. Therefore, index numbers preparcd on
such prices cannot be used for different places or different classes of people.

v‘d" ¢ udes g0 many Comm(’ditieg of
R i{; | of HMe:

P‘” qt10 of expenditures on diffg-remc(
. 11165 s are not same, which Createg ::; ;“r‘u’?mﬂs

Tlg[ab
¢ lP_ quahhj’

Whick ...
"l not be used a¢ g
) a 1“&1’;3“

A diffe,,
. TeTt ey
™ comgtr, PO oftirne andby

er
P mbers: .
Tuctic
ms of cost of ivi

vt ; variety of cost of liyiy., : Varioug
ore will be y of cost of living diceg g,

Mg index i |
[}

/ ' i Mg
(i Constructing CP| S
g Of 41om, Zroup, cﬂmmunity etc.

0 . o
yetf er price index numbers are

ﬂ1e'coﬂg egate Expenditure Method o W Cted by the iollowmg two
(i) iy Budget Method or Methog T _tEd Aggregate Methed. methods;
F €ighted Average of Price’ Rela
tives.

ii)
( ate Expenditure Method
e

i similar to the Laspeyre’s methy,

ethod 15 51T - 4 of constructing giop. 1 -

1lis ’Z _ntities Of commodities consumed by he p eu.ﬁctmg Weighted indey,
fhed figures are used as weights, Then, the tota)

dthese
" (base and current) are calculated.
jeat

ﬁe steps VO
f Multiply prices of the base year (p;) with quantities of the base year (g and add it to
aggregate expenditure for the base year (Zpgqy) et

L

g

' Mdex. To apply this method,
BIOUP in the base year are estimated

expenditure on each commodity for each

lved in this method are:

2, Multiply prices of the current year (p,) with quantities of the base year (g0 and add it to
obtain aggregate expenditure of the current year (Ip,qy);

3, Divide aggregate current year's expenditure (2p;qy) by aggregate expenditure of base year
(Zpodo) and multiply it by 100 to get consumer price index number.

=Ep_lq_0x100

Apply the formula: Consumer Price Index
4. Apply the I

family Budget Method

nthis method, the family budgets of alarge
wrefully studied. Then, the aggregate exPe“d.m“e
Sestimated. These values constitute the weights.

The steps involved in this method are:

number of people, for whom the indexis mean\,_a.re
of anaverage family onv arious commodities

(,gl_ X 100\ and denote itbyR;

year
currenty P

L. Calculate price relatives for the

the weight of a commuodity, i gevthe



RSN \

haza B Starist/f:i fgr C/ass X
3. Multiply the price relatives (R) with weight (W) of each commodity and obtain its toa) ,
get IRW;
4. Obtain the sum total of weights to get TW;

5. Apply the formula: Consumer Price Index = E;W

It should be noted that aforesaid both the methods of constructing consumer price index number woyq
provide the same results.

Example 11. Calculate cost of living index, for the following data, using aggregate expendityye
and family budget Method.

~ i Prices (in ?) Quantity in units
2011 2016 2011
A 10 ‘ 15 15
B 8 12 20
G 20 i 24 10
D 32 1‘ 40 5
E 15 “ 20 6
F 12 } 18 2
G 8 “ 10 1
Solution
Aggregate Expenditure Method
Commodity L Prices (in 3) Quantity (units) Aggregate Expenditure
| 2011 I 2016 (2011) Podo P19
| Po Py 9
A | 10 15 15 150 225
B ,’ 8 | 12 20 | 160 240
c | 20 | 10 | 200 240
D | = 40 5 160 200
E | 15 20 6 | e | 120
i |12 18 2 24| 36
& ] 8 | 10 1 s 10
| L | Zpgap=792 | zp,q,=1.071

Consumer Price Index for the year 2016

2 1,071
=20%:, 400 - x 100 = 13522
2pydo 2

pers - =y o

o

Prices (in 3)
2011

Po

10

i

consumer Price Index (CPI) for the year 2016
sRW _ 1,07,100

=Sw 792

it shows that there is an increase of 35.229, in

= 135.22

. prices in the year 2016 as col
Ans. CPI by Aggregate Expenditure and Family Budget Method = 135.22 R

pxample 12. Compute the index number using

(1) Aggregate Expenditure Method, (ii) Famil
Budget Method, for the year 2016 with 2011 o) Sarhily

as the base year, from the data given below:

T Commodity | Quantity (in units) 2011 Pice@2011 |  Price®)2016
A [ 100 8 i 12
B | o5 ( 6 1’ 7.50
c l 10 } 5 \ 5.25
D l 20 B 48 \ 82
= \ 25 i 15 ‘\ 1650
Solution: Aggregate Expenditure Method
B B te Expenditure
: Prices (3) ‘ \ = Aggrega RS
mmodity 2011 2016 AR o b i
% ) 1.200
Po P1 800 1,200
8 12 “ 187.50
-m““ 250

H
o

‘I:- 270 810 _
Ipdo = 2,605 | ZP1Q0= 3,702.5

15

n/mjo/Oo|m|>



1 2_6\_ Y Umbers e
B e Statistc, dé’{N
Consum . 1%y Clag )
er Price index for the year 2016 S8 ) 1 4 100 = 0.71 . That i8, the
1%  yop - 370250 o 140 Purchagi,
Zpoqo T = 1.4213 x 100 = 142,13 Coﬂ‘f’ared to the base year, pOW(:mfan T2y
. : "Peein
Family Budget Method ;th the iNCreasein prices, amoyy the given featia
- 4 wa t 2/ paig
it udees () Price Relatives | Quantity G ol or the re:ls cang:s)ogsezm dec'easm;fé% N g, h
; ; ; wa e det iceg 1.
Seie 2006 £ O nh T RO Do Ay Real ® Frimineg, lnthefex umbm tel] wh(h““m‘rfw ‘
- e Py T Gl Won 9 Ollgy US the "3ges can buy
= ; R) el ‘ ‘ | Rea| Wagesg _ °neyw ’ B in req] Wages
A | 8 12 | 15000 | 100 800 £ w
| | 1,20,000 consumer price index Numbers 5 Indey * 100
B [ 6 | 750 | 1200 | 25 | 150 7 d e 2l ygeq
/ ‘ ,750 of goOdS and services, for aMalye;
s | s | s25 | 10500 | 10 ] 50 e VSIS ket
D [ a8 | 52 | 1083 | 20 | 960 1,03.996 3 (alculation of Real Wages kinds \4
E ’ | 16 . ; :
(& 1650 | 11000 | 25 | 375 2155 3111Ple 1. DUring a certain period he g
F | o | a7 [ 3000 | 30 [ 270 81,000 B wages Of  WOTker was also raigeq o "8 Ndex gogg
[ | ] [ | zw=2,605] xR daily oM 80 7195 1.0 P HOM 110 to 209
’ W= 3'70’246.80 %<0, bY how much in real terms, 5. Has the worker and the
0,246.80 - Bala
70,246. e
Consumer Price Index for the year 2016 = = = 142.13 Golution:
w 2,605 Wwith increase in cost of living index from 11010200, the
The consumer price index number of 142.13 shows the increase of 42.13% in prices in the year 201g as 80x 200 _ —— ' dﬂwwagadhewkershwubew -
compared to year 2011. 110 -5 TG e daiwwageshmwneuponlytohzs Hence, |
Ans. CPI by Aggregate Expenditure and Family Budget Method = 142.13 - , the worker has not
. i n fact, his real w.
Us Consumer Price Index (CPI) Number gained. | 2ges have gone down.The rea wage of e woreris 125X 10 _ 50
e importance of the consumer price index can be seen from the following points compared to T 80 before the price rise. 0
1. Consumer price index numbers helps in wage negotiations, formulation of wage policy, : e
price policy, rent control, taxation and general economic policy formulation. ndia Consumer Price Index Numbers
g ; .. dia, three Consumer Pri umbers (CPI’ -
2. The government and business units use the consumer price index numbers to regulate FENIES mEings el {CE¥ gjape consimled
the Dearness allowance (D.A.) or grant of bonus to the employees in order to compensate /& PI for Industrial Workers with 1982 as base year. Ttis published by Labour Bureau, Shimla
——— e ——
them for increased cost of living due to price rise. i . .
& P  CPI for urban non-manual employees with 1984-85as base year. Its also published by Labour
i
,Bureau, Shimla.
is published by Central Statistical

3. The CPI are used to measure purchasing power of the consumer in rupees. The purchasing
The /
power of the rupee is the value of a rupee in a given year as compared to a base year. - —_—
formula for calculating the purchasing power of the rupee is: b.cp I for agricultural labourers with 1986-87 asbase year 2P
1 o Organisation. o
X impa
They are routinely calculated every month to analyse the Imp

Purchasing Power =
Consumer Price Index
on the cost of living of these three broad
Allingja Consumer Price Index Numbers are

of changesn theretll price

It indicates that money purchasing power is the reciprocal of the price index. Accor dingly:
if the consumer price index for a given year is 140, then purchasing power of a rupee is



b, 80
ElecmaajProducts 170
Textile 220

Index Number of Industrial Production =

Industrial production has increased by 60.20% in year 2016
Ans. |

NUMBERS

extensively used to record changes in output, income, employment
prOductiVity, business activities, etc. Index numbers are applied to measure variations in almos;
all spheres of economic activities.

In the words of M.M. Blair, “Index numbers are the signs and guide posts along the business highway
that indicate to the businessman how he should drive or manage his affairs”.

ing are the uses of index numbers:

/2C Index numbers are indispensable tools for the management
of any government or non-government organisation.

They help in studying trends of various phenomena and these trends and tendencies
are the bases on which many policy decisions are taken.

They are also used in planning and formulating various government and business

X NUIMDErs act a¢

cpnomic Barometers: A barometer is an instrument that is used to
ospheric pressure. They measure the pulse of an economy and act as a barometer

# Help in studying trends: Index numbers are very useful in studying the trend or tendency
of a series spread over a period of time.

« They help to find out the trend of exports, imports, industrial production, prices and
a variety of other phenomena.

[P S Aprrw, o, U

ariables Hpare Fhang . Index Slrieg w,u.:h b :/ “hn‘fenrj
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: : S hef
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s purch.a.smg power and P“IChasingasmg POWer: The value of -
commodiies o chins e U e 2 7 s
i y . € pri th
o When 1:1‘(\195}’11'1:8 level goes U, the valye valye - PTICeS of the
it 1s said that a rupee of togyy ; g bow,
. Y 1S Worth ongy 9 - o O mOney falls, Somet:
power in 1980. Y 20 paise a5 compared to . ?\n'em' .
o Index numbers are helpfy in g, —— Chasing
with its nominal wo € Ifrinsic worth of g,
rth. This helps in formulaﬁng the wage iy Omey as contrasted

How Index numbers help in formulating the ya,

Suppose, a person used to eam % 10,000 per
in that year was ¥ 1,000. It means, the person
month’s earnings.

g€ policy of the country? ‘

monm’lnmeyearzws.ﬂmecostotan'nem‘
couldpurchasﬂ()unitsothe'xtemwmmne

In the year 2016, the same person eams 20,000 per month and cost of the ftemis 2 2,500
Now, he could purchase only 8 units with one montt's eamings. t means, the effect of monthly \
earnings relative to the particular item is less in year 2016 than in 2005 as lesser number of |
items can be purchased with current eamings. ‘

Thus, a person who was eaming 10,000in 2005, smuldea.mi 25,000in 2016, to maintain
: the sﬁgndard of 2005. This helps in formulating the wage policy of the country. B

¢ ice index helps to adjust
MdEX numbers help in deflating various values TherE;CSQ index number help
' monetary figures of various periods for changes in prices.

. ) try is computed on

* For example, the figure of national income of. a c:ll;c(;me .

prices of the year in question. However r:;atl‘:i“n of goods and services.
; vel of product

reveal the real change in thele zﬁonal income, tese figures TS!

* Inorder to know the real change inn are possible only by

. ts @ .
adjustmen® S I ¢ ing prices,
price changes in various years. Such adjusTE" ituation of fsiNE P

3 tmeI\t;
index numbers and the process of s

as deflating.

the basis of the
price does not

pe adjusted fo
the use of pric
is know
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Actas Help in To measure
: Iiw. Studying and compare
trends changes

ITATIONS OF INDEX NUMBERS

rovides relati

“€ehanges onlv: Index numbers are only
g estimates of relative changes in various events. They

cannot speak the truth as they are only the approximate

LIMITATIONS OF INDEX NUMBEH
S

— Provides relative Changeg only

« . . — Lack
indicatogs. They represent the generalised truth, which Lack of Perfect Accuracy :
: - : |__Difference between
ed on the basis of average of all the items. fbttodet constmﬁf;“"’se ang

— Ignores qualitative changes

— Manipulations are Possible
ple items, i.e., each and every item is
-If samples are inadequate or selected by erroneous method, ind

€X Numbyg,
d to give inaccurate result.

ifference between purpose and method of construction: When an index Number
purg :

special purpose by a specific method, then such index number will not

or all other purposes and situations. If they are used for other purposes
to give erroneous inferences.

alifativa
S qualitaayv

e changes: While constructing the price or production index numbers,
no attention is paid to the changes in quality of the product. An increase in price may be

due to imfprovement in the quality of the product. Such changes are not reflected in the
i numbers.

anipulations are p

©ss1ble: Index numbers can be constructed in such a manner so that the
desired result can be obtained. Such a manipulation can be done by choosing a particular
base year, a particular group of commodities, a specific set of prices, etc.

/WHOLESALE PRICE INDEX NUMBERS

- - ; -
\price index numbers are those price index numbers which measure the general changes the

‘wholesale prices of goods in a country.

® This index is restricted to commodities which are mainly traded on a wholesale basis like
wheat, rice, edible oils, minerals etc.

® Wholesale price index numbers also act as an indicator of changes in economy.

In India, the first wholesale price index number was compiled in 1947, The latest wholesale price
index number in India is constructed with 2004-05 as the base year,

b
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pima

Energy Articles .
Manufactured Articles ‘423;
Total Weights =

olesale Price Index i the only prics indexin g, whiy 100%
Vf; of two weeks. Due to this reason, tis wig Ichis available on

able on weeidy bas
i ely usedin bys; i Dasi withhates i
tis generally taken as an indicator of infiation rate ec:.ff,,;” sy andy e Govemmert

utiity of Wholesale Price Index Number
Theutility or uses of wholesale price index number will become dear from the following poinis:
o
1 Indicator of Inflation: Inflation is a persistent and appreciable rise in general level of prices. In
economics, wholesale price index is taken as an indicator of the rate of inflation.

* An increase in WPI indicates the rate at which the purchasing power of money is
decreasing.

¢ WPI number helps in finding out the rate of inflation in the country, which can be
calculated as:

The weekly inflation rate is given by:

XKt 00

- 1)" weeks
t{;/\}hereXandX, ,refartotheWPHormet"and(r 1) weeks)
L At -

Weekly Rate of Inflation =

The yearly inflation rate is given by:

\WP! of CurrentYear wo\- 100
Yearly Rate of Inflation = | o)t previous Yedr



| 2. Forecasting Demand and supply: The wholesale price indices are helpful jn ¢

| X LI T i ()re
’ the demand and supply of the commodities in the economy.

a situation of excess demang

Cast

* An increase in wholesale price index indicates
* On the other hand, a decrease in wholesale price index shows a situation, of
supply over demand for goods. eXc
3. Helps in determining real changes in aggregates: WPI is used to eliminate the eff
changes in prices on aggregates such as national income, capital formation, etc .
For example. an increase in the national income in a particular year may be becay
- - - . Se
same output is sold at a higher price. This can be known only when we divide natj
; .. 0
income by the wholesale price index.
e If the resultant value is the same as the base year, it would imply that the rea] g,
has remained the same, or that there has been no growth in the economy. !
e On the other hand, if the resultant value is greater than that of the base year, it .
that the economy is growing at that rate.
4. Useful in Cost Evaluation of various projects:Major projects like construction of an Airp
or Shopping Malls are long term activity where huge sums have to be spent in future.

e The original estimated cost of project will be increased as prices rise over the time,
o To estimate the revised price, the inflation rate has to be considered, which is indicat
by the wholesale price index.
 Wholesale price indices are useful in computing the real cost of such projects.

e Forexample,if WPI for a year is 105, this means that initial cost estimate of that year w

need an upward adjustment by 5%.

.13 INFLATION AND INDEX NUMBERS

Inflation is described as a situation characterised by a sustained increase in the general price level.
small rise in prices or an irregular price rise cannot be called inflation. It is a persistent a
appreciable rise in prices, which can be called inflation.
¢ The Wholesale Price Index (WPI) is the most widely used price index as an indicator
the rate of inflation in the economy.

o It is the only general index capturing price movements in a compre
indicates movement in prices of commodities in all trade and transactions.

hensive way al

o WPI is available on a weekly basis with the shortest possible time lag of 2 weeks.

Jue to all these attributes, WPI is the most commonly accepted measure of inflation.
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3. CONSUMER PRICE INDEX
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3.1 Aggregate Expenditure Method CPl = % 100
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4. INDEX OF INDUSTRIAL PRODUCTION
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